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Q1) [35 points]
For the amplifier circuit shown, neglect r,,.

(a) Drive an expre5510n for the midband voltage gain (Vou/Vig).

(b) Drive an expression for the low and high frequency poles. Q"G

(c) Find the amplifier transfer function T(s)= Veu(S)/Vsig(s).
Given that g,=0.5mA/V, Cc1= Cer=1pF, Co=1pF and Cgq=0.5pF
Find the values of :

* ®pand ®y and the bandwidth BW. &
g VOltage gain= (Vout/Vsig) 2
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Q2) [35 points]
For the amplifier circuit shown below,

(d) Drive an expression for the midband voltage gain Ay =V ou/Vsig. /O

(e) Drive an expression for the low corner frequency ©;.

(f) Drive an exprsion for the upper corner frequency ®y 23
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Q3) [30 points]
a) Sketch Bode plots for the magnitude of the transfer function and estimate the gain in dB

at 10° rad/s
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b) Non-inverting amplifier with gain of 30v/v employs an opamp having a dc gain of 100dB and

unity-gain frequency of 10MHz, find : »
1. The 3-dB frequency of the opamp. \ 5
. The 3-dB frequency of the non-inverting amplifier 4—
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